
SAP ABAP table REOR_RESERVATION_COST {Reservation - Costs (VIORRSCOST)}

REOR_RESERVATION_COST

CONDTYPE [CHAR (4)]

SRVTYPE [CHAR (4)]

FLOWTYPE [CHAR (4)]

TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]
 REOR_RESERVATION_COST-CONDTYPE = TIVCDCONDTYPE-CONDTYPE 

0..N

0..N
TIVCDFLOWTYPE

MANDT [CLNT (3)]

FLOWTYPE [CHAR (4)]

 REOR_RESERVATION_COST-FLOWTYPE = TIVCDFLOWTYPE-FLOWTYPE 
0..N0..N

TIVORSRVTYPE

MANDT [CLNT (3)]

SRVTYPE [CHAR (4)]

 REOR_RESERVATION_COST-SRVTYPE = TIVORSRVTYPE-SRVTYPE 

0..N

0..N


